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The double box plot shows the quiz Csall Cmealad) (63 (griall bhia gk
scores out of 5() points for two LAl 05 8] akits 50 o JLIAY) Sl
different periods. Oilany) Suie panall Culdy ($,a0 Gn OB

Compare the centres and variations $2 dgtiall bhia oL maa A Laa g
of the two populations. Al (el
Which of the following is true about

the double box plot?

(blaJl) LVl ol s
Quiz Scores (points)

Auldl o aall

Second Period o—+ - i +—o
i | 6 sanll i
D Fifth Period .—U—J_.
I}

l 1 l L | l 1 L L l !
I | 1 I 1 ]

| I I |
0 5 10 15 20 25 30 35 40 45 50
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To determine how often his ) A0y e Ak AL e 2 paan
students are tardy, Mr. Rami akall 2 AY) dcall Ul gian Ja
considered the attendance Ooliaa Sludl JSadl) 138 3 V3Ll

record for his first period class.

Why is this graph misleading?
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Dl g ely>! P

O

A survey found that 6 out of every agatl WU 10 JS o (30 6 ) &3l C"':"!

10 students have a blog. Suppose 2 Wk 200 Ay dia (_-_,i ooyl Aigra
there are about 200 students at the ¢ Aigia 4ua] agia oS LS A jrall

school. Predict how many have a

blog?

O 120

f-"ll 10 h



K 3 = B - 2023-2022 Ll Loall &l slast - oy Slabiyll ~piludl caall

JeatliP

Find the value. Laasd aag)
P(8,3) P(8,3)
O 3x2x1

O 8x7x6

i
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) aall sladll P

1 -

Find the number of different outfits e 'S Al 4253l cL3Y) 200 aa)

that can be made from 3 jackets, Ben 2yl 4y Slhsla 3

4 blouses, and 2 skirts.

O 3 x4
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T T W

The spinner is spun 12 times. Ne byl sy .5 12 gl Lajdll a5 A
It lands on yellow 5 times. 43 g1 = AL JlWhaY) L .S 5 Sy
What is the experimental probability ¢ ey Ao Al e dll

of the spinner landing on yellow?
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S lasdlP

Find P (4) or the probability of 4 o cagal) Cibg Jlial 5l P (4) 2
rolling a 4.

1
O P4)=
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Find the lateral area of the cone. cdag Al Aslal) dalacal) aag)

10m

O I A — QN m mi a
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.'55_,51.5” P;.:—P

What is the volume of a cone with h ac\f)) by aa aas sala

height h, and the area of the base B. .B 55180 daluuag
O V=-Bh -
O V==Bh o

£ UV — 1[)]-.2 .C
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D QJTghdu-ﬂ! [ P

Find the volume of cylinder. Aghul) aas aal

6cm
10 cm

@ & vV =n(3)%2(10) = 90 cm? a
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Bl gl oilsd] i Luall :P

Find the lateral area of the cylinder . Aauagall gl Auilad) dalecal) sagf

shown.

._/'Sm

12 m
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How many different 3-digit A Ay 3 e digkall AdliAa) 4B Y 2 La

numbers can be formed using the 653 54 37 59 AN Aladill Lgie< e
digits 6,3,4 ,7and 9? Bya s S| a3 (ol aladiad (Sas Y A4S e R
Assume no number can be used .Baalg

more than once.

20
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I lazyl P
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Lol slou! P

Two different letters are randomly (0 lgde JSo0 (udliaa b jLEA) o5
selected from the letters in O Juial e . math das 3 sagagal) Ciny)
the word math. What is the i Sl moga oA W Giga gl OsS
probability that the first letter th

selected is m and the second

letter is /?

1
i O —_— a
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olall :P

Hussam is trying to decide which of &3 Cilal ceda Sa Ul saay o) alea Jglas
three golf courses is the best. Wigde Qalal¥l of)) alliu) a8 . a1 s
He randomly surveyed people at a c gl jada
sports store. faalla A Ja fliall e dd b L
What is the method of collecting the

sample? Is it valid?

Aalla ddal) (ddaacs i_._u'l_’.:c- il oA alal)

The sample is a simple random sample, the sample is valid.
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A triangular prism has a volume of JLaga 15a 800 dasa Ay D5 pdiia
800 cubic meters. If the dimensions sady) Chal L) pdiall slad cuzaddl) 1)
of the prism are reduced to half Caaall [ adiall ana Lad (dlay)

of the original dimensions, what is

the volume of the new prism?

O 100 m? 4

@ O 2400 m? b




a Viewer|SwiftAssess
cluster1-3.moe.gov.ae

20—16° c B

<~ Use the graph that shows the

percent of cat owners

who train their cats in each
category. Out of 300 cat owners,
predict how many owners trained

their cat to climb on furniture.

Climbing on f Brers
Furniture mr | 1 ‘3_ g

E

£ Clawin ™ p—

'S Fumlhng , gzg_,.

£ =

Fighting —
_ with Other ‘ = 17% |
1 Animals R
0 10 20 30 40 50

Percent
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Lghall dposil) g (g3 ,bal) ) padiud
US 3 pelalh S () gagis il el

kb 50 300 Jual s
CEEY) 3l e AikB s o6 agia o L

L
B
&
L
L=

40 50
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A ball has a diameter of 6 O3l anale . Cilfadiv 6 (Syle layht 35

centimeters. What is the volume?

O V=60r cm? a
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D aliiwall iy diiuall Olasyl P

A number cube is rolled and a dala) 5,8 JLad)g slaef cage dsjan cuad
marble is selected at random from oLl Bagagall dudall e e (i
the bag below. P (Ja..al ol 3) )

Find P(3 and not yallow ).
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bgysall pdaw d>lua IP

Find the surface area of the cone. g Aall mhaud) dalis 33l
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The spinner is spun once. Baaly Bya gl Laydll yipa0 A
Find the probability of the event. cSaaldl Jladal aag)
P(Aor EorI). P(ASE I




